W.B.P.FORMNO.27



FIRST INFORMATION REPORT

02033

First	information of a cognizable crimereported under section 154 Cr. P.C., at P.S.
	vist. Barkuza Sub-Divn. Khatza. P.S. Simlapal. Year 2021 FIR No. 70/2/Date 19:022021
)Act
(i	ii) Act
3. (a) General Diary Reference : Entry No. 737
(b) Occurrence of Offence: Day
(c) Information Received Date
	B.D. No. 7.37
4. 7	ype of information: Written/ Graf Nositten.
5. F	Place of Occurrence : (a) Direction and Distances from P.S. A.p. D.D.M. D.S. K.M.S
	a) Address
	71 NO-148 Anchal NO II (Simlapal)
	b) In case outside limit of this Police Station, then the name of P.S.
	District
6. (Complaint/Informant:
1	a) Name Shrazarol Nandi A.S.I. of Police
1	b) Father's / Husband's Name
	c) Date / Year of Birth
	d) Nationality
1	(e)Address
7	Details of Know/Suspected/Unknown/Accused with full particulars m. Suman Mukhenzi us S/0Tapas-
	(Attach senarate sheet if necessary) Mukhemiele of Bornicha p.S. Simlapal, Birt-Bound
8	Reasons for delay in reporting by complaint/informant. D: Day an any. Dery. S. J.O. B. h. Olamath. Dery. of -
0.	vill- T. Kampana. P.S. Simlap. M. Dist- Bankuna.
	AT AT AT AT A COURT A COURT A COURT AT A COURT AND A COURT AND A COURT AT A
9	Particulars of properties stolen / Involved : (attach separate sheet, if required) :
0.	per Berzuge Iter
	france stand
10.	Total value of Properties stolen / Involved :
12	Inquest report/U.D.: Case No., If any: X FIR Contents: (Attach separate sheet, if required) The Operation of the frequired of the fr
	phich is topeated as F.I.R IX- and
	neve with.
13.	Action taken : Since the above report reveals commission of offence(s) u/s
	J. S. 1. Proasanta Kar. Poasanik. of Siolagal PS. do hepe by
	registered the case and took-up the investigation / directed A.S.I
	to take up the investigation
	transferred to P.S

Signature/ Thumb Impression of the Complainant/ Informant

08.2021

「ないのあたちをいうかいちんないいのちい

To Inspector In-Charge Simlapal P.S, Dist- Bankura.

oolin

Sub : Prayer for lodging FIR against arrested accused (1) Suman Mukharjee (20 yrs) S/O- Tapas Mukharjee of vill- Baricha, P.S-Simlapal, Dist-Bankura and (2) Dayamay Dey (30 yrs)S/O- Bholanath Dey of vill- Tikarpara, P.S-Simlapal, Dist-Bankura, carrying ID foreign liquor with M/Cycle bearing reg.- WB68AC/1221.

In producing herewith arrested accused (1) Suman Mukharjee (20 yrs) S/O- Tapas Mukharjee of vill- Baricha, P.S-Simlapal, Dist-Bankura and arrested accused (2) Dayamay Dey (30 yrs)S/O- Bholanath Dey of vill- Tikarpara, P.S-Simlapal, Dist-Bankura, along with seizure - list and seized items as described below, I beg to state that on 19.08.21 at about 00:05 hrs the duty officer of the P.S. had source information to the effect that the foreign liquor and country liquor have been getting carried by the above accused from Bikrampur side to Bhutsahar. It is recorded in GDE No.-735 dt 19.08.21 at 00:15 hrs.

I have been requested by duty officer to work out the information. In course of mobile duty, vide C.C No- 1828 dt.-18.08.21, I had been to Bankta village P.O Layckpara P.S-Simlapal and ambushed there at about 00:45 hrs. After a while at about 01:05 hrs I found the above accused persons with one M/Cycle bearing no-WB68AC/1221 Super Splendor and the following F.L. & C.S was coming from Simlapal Side towards Bhutsahar side. I caused the stop and asked about their identity. They revealed their name and identify as above as well as informed also that they have no papers/documents in respect of caring such FL & CS.

I seized the following items from their possession in between 01:20 hrs and 02:15 hrs:-

- 1. 7 bottles of C.S, the label of those speaking about the brand as BULLET & quantity of each as 600 ML Market value of which being in total approx Rs. 7 X 100= 700/
 - i. 1 bottle (of 600 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 2. 15 bottles of C.S, the label of those speaking about the brand as BULLET & quantity of each as 300 ML Market value of which being in total approx Rs. 15 X 50=750/-
- i. 1 bottle (of 300 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.

- 3. 24 bottles of C.S, the label of those speaking about the brand as DILKHUSH & quantity of each as 300 ML Market value of which being in total approx Rs. 24 X 25 =600/-
 - 1 bottle (of 300 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 4. 08 bottles of beer, the label of those speaking about the brand as KINGFISHER STRONG & quantity of each as 650 ML Market value of which being in total approx Rs. 08 X 130 =1040/
 - i. 1 bottle (of 650 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.

Contd...

- 5. 03 bottles of wine, the label of those speaking about the brand as IMPERIAL BLUE WHISKEY & quantity of each as 750 ML Market value of which being in total approx Rs. 720 X 3= 2160/
 - i. 1 bottle (of 750 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 6. 04 bottles of wine, the label of those speaking about the brand as IMPERIAL BLUE WHISKEY & quantity of each as 375 ML Market value of which being in total approx Rs. 360 X 4= 1440/
 - i. 1 bottle (of 375 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 7. 04 bottles of wine, the label of those speaking about the brand as IMPERIAL BLUE WHISKEY & quantity of each as 180 ML Market value of which being in total approx Rs. 174 X 4= 696/
 - i. 1 bottle (of 180 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 03 bottles of wine, the label of those speaking about the brand as OFFICER'S CHOICE WHISKEY & quantity of each as 500 ML Market value of which being in total approx Rs. 375 X 3= 1125/
 - i. 1 bottle (of 500 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 19 bottles of wine, the label of those speaking about the brand as OFFICER'S CHOICE WHISKEY & quantity of each as 375 ML Market value of which being in total approx Rs. 290 X 19= 5510/
 - i. 1 bottle (of 375 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 10.39 bottles of wine, the label of those speaking about the brand as OFFICER'S CHOICE WHISKEY & quantity of each as 180 ML Market value of which being in total approx Rs. 140 X 39= 5460/
 - i. 1 bottle (of 180 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 11.02 bottles of wine, the label of those speaking about the brand as Mcdowell's no 1 WHISKEY & quantity of each as 375 ML Market value of which being in total approx Rs. $385 \times 02 = 770/$
 - i. 1 bottle (of 375 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 12.02 bottles of wine, the label of those speaking about the brand as Mcdowell's no 1 WHISKEY & quantity of each as 180 ML Market value of which being in total approx Rs. 184 X 02 = 368/
 - i. 1 bottle (of 180 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.
- 13.34 bottles of wine, the label of those speaking about the brand as Mcdowell's no 1 RUM & quantity of each as 180 ML Market value of which being in total approx Rs. 153 X 34 = 5202/
 - i. 1 bottle (of 180 ML) taken out of the above as sample packed, labeled and sealed with sealing wax.

Contd...

14. One Block colour Super Splendor M/Cycle bearing no-WB68AC/1221. 15. Two plastic made sack & two plastic made bag containing above noted seized articles.

And Sharekees on

ente de la baix enforte arriège de la contra entre autor d'homen de la Million de la contra d

La has bushed a regard

Page No-03

I interrogated them about the purpose of the stocking and possessing of the liquid said to be Foreign liquor and country wine. They replied it was the business of them. However they could not show any documents/papers in support of the possession as well as sale of the said articles.

As such, I seized the above items as ALAMAT under proper Seizure List between 01:20 hrs and 02:15 hrs & took up one bottle of each brand as samples, leveled and sealed accordingly.

Since the allegation against them of possessing, the foreign liquor & C.S illegally without any valid papers for the purpose of selling has prima-facie been made out and for the interest of proper investigation, I arrested the above noted accused persons at 02:25 hrs and 02:30 hrs accordingly.

Therefore, I pray before you to start a case under proper section of law against both the arrested accused person as above.

1 17.

Enclo: 1) The Seizure List along with the seized Items as above.

ri a la conception de la compañía rizo de la conception de la compañía rizo de la conception de la compañía de la compañía

er i skigning engen

(2) Arrest Memo(3) Inspection memo.

Dated: 19.08.21

Yours faithfully (ASI Shyamal Nandi) Simlapal P.S., Bankura. 18 121

Received On 19.08:2021 at 03.15 hor and standed Simlapal pscape MOr 70/2021 df. 19-08.202) WS 46A(C) B.E.A.f.

MNSPECTOR R SIMLAPAL POLICE STATION DIST.-BANKURA